AR — =

SFEEFH

ROUND1-GT
NEAZ 4 Hi Gl ¥4 TEC _ ATH Total
1 [E% A (1B 57) T VRZTB: 16.94 17.26 24. 20
2 | Dhi (g AL |7 PR B 15.96 6. 84 22. 80
3 o EEF (KA=) 2 ¥V A |15.68 6.78 22. 46
4| B (SF HIEYS) 5 =B 15.40 6.66 22. 06
5 |tk ot (B EEEI) T LB 15.40 6.30 21. 70
6 |HE (BB SILER) 4 P& Bk 14.00 5.94 19.94
T\ A (FEaRE) 4 P B 13.72 5.88 19. 60
ROUND1-G2
JEAE 4 Wi il 4 TEC _ ATH Total
1 Al ERES (2 —X) 3 LB 16.80 7.14 23. 94
2 |l AE (B ) 4 TR 15.82  6.90 22.72
3 |HEHm A (Ia L) T ERZTB 15.68 6.54 22.22
4 |tk ARH] (B —=ES) 4 Wz B 15.12 6.42 21.54
5 [EE A (SF HIEY) 5 =B 14.00 6.18 20. 18
6 |EA BIr (RAES) T ERZTB 14.00 6.00 20. 00
ROUND1-G3
NEAZ 4 Hi B & ¥4 TEC __ ATH Total
1 |HA FEh (B =2EY) T LB 16.10 6.78 22. 88
2 el A (KB FiEdiE) (6 P =B 15.82 6.78 22. 60
3 |t &K (FAR=) 4 P B 14.84 6.42 21. 26
4 |HEH (&) T LB 14.70 6.36 21. 06
5 |fTH IKHE (¥ —2X) 5 =B 14.70 6.12 20. 82
6 |EF B (e e3[4 PR B 13.44 5.76 19. 20
ROUND1-G4
JEAE 4 Wi il 4 TEC  ATH Total
1 |REA BRAY (SF HIEY) T ERZTB 16.66 17.08 23. 74
2 |&I =} (R EHEE)1) T ERZTB 15.68 6.60 22. 28
3 IR kx| GREREERN) 5 =B 15.26 6.30 21. 56
4 [KEA RN [ (B2 12 vy 7o hiB|14.28 6.18 20. 46
5 | KEE KRIr (FEaREY) T ERZTB 14.00 6.18 20. 18
6 |KH MBHE (avgas L3 |4 PR B 13.30 5.88 19. 18




AR — =

SFEEFH

ROUND2-GT
NEAZ 4 Hi il ¥4 TEC _ ATH Total
1 [l RRES (2P —X) 3 RNIB 17.36 17.26 24. 62
2 |@E FHnE (1B %) T VZTB: 16.24 6.90 23. 14
3 |E Zhi (g AL |7 PR B 15.82 6.66 22. 48
4 |REH (al2) T LB 15.68 6.54 22. 22
5 |1 K= (A=) 4 P B 14.70 6.48 21. 18
6 |t&iE AH] (Bh 2B ) 4 P B 14.14 6.30 20. 44
7 A (SF HIEY) 5 =B 14.42 5.94 20. 36
8 |IlhD  EEF (KA=) 2 XV A 1414 6.18 20. 32
ROUND2-G2
JEAE 4 Hil il 4 TEC  ATH Total
1 [RERR BiAy (SF HIEY) T ERZTB 16.80 7.26 24. 06
2 bR A (KR ZeFEdiE) |5 P =B 15.96 6.78 22.74
3 |HA FAr (B 2aE) T ERZTB 15.82 6.66 22. 48
4 |FRID =} (R EHEE)1) T ERZTB 15.40 6.30 21.70
5 |fEH &KX (B ) 4 TR 14.98 6.54 21.52
6 | kx| GREEFRN) 5 =B 15.12 6.24 21. 36
7T |WHE EL (EIERE) T ERZTB 14.84 6.48 21. 32
8 |KHBP #A | (BIZEZ5FLIR) 12 ¥r7 v hE:|14.98 6.18 21. 16
SEMI FINALS-G1
NEAZ 4 Hi il ¥4 TEC __ ATH Total
1 [AE X [(2v—X) 26 AT F|16.52 6.96 23. 48
2 | FHEE (1B %) 24 v EA]16.24 6.90 23. 14
3 | Dhig (g b3 |23 oA~ 15.12 6.48 21. 60
4 |REH I (alE2) 31 = v 14.84 6.42 21. 26
SEMI FINALS-G2
JEAE 4 Wi il 4 TEC  ATH Total
1 [fer By (SF HIEY) 31 =F 17.64 17.38 25. 02
2 |HA FAr (B 2aE) 23 VA 15.68 6.60 22. 28
3| &=} (R E)1) 31 =F 15.26  6.48 21.74
4 [HbJE - A (ApZeFEdY) (23 YA 14.98 6.36 21. 34




faR el — &
SEEFH

BRONZE-G1
JIEAL £ Hi B ¥ 4 TEC = ATH Total
1 (&% (B e ) 20 B XA]15.96 6.84 22. 80
2 AR =3b (GEEAEE)1]) 31 = E 14.98 6.42 21. 40
BRONZE-G2
JIEAL % Hi s B 4 TEC ~ ATH Total
1 |E# Zhig (s dbEs)  [23 oA~ 15.68 6.84 292.52
2 |mBa BN (BB 23 VA 15.68 6.60 22.928
GOLD MATCH
JIEAL £ Hi B ¥ 4 TEC = ATH Total
1 |RER  Bidy (FHEY) 31 =2t 16.66 7.14 23. 80
2 A ERE [(=v—X) 26 A =x=>F|15.68 6.72 22. 40




